
R0015344 Bench Assemble Conveyor Parts

bench assembly details for conveyor parts

Introduction
Tools Required

Standard hex key set

Standard spanner set

Parts Required

D0001966 Conveyor Sidewall 1175mm x 4

D0010626 Conveyor Side Bracket x 12

D0010913 Conveyor Sidewall 1175mm (with curved end) x 1

D0010914 Conveyor Sidewall 1175mm (with curved end) OH x 1

Medium 0.5 hour(s) Dif1culty  Duration

Contents

Introduction

Step 1 - Unless otherwise stated

Step 2 - Assemble Sidewall 1

Step 3 - Assemble sidewall 2

Step 4 - Assemble sidewall 3

Comments

Step 1 - Unless otherwise stated
Use Loctite 243 on all fasteners

Use Loctite 572 on all threaded pneumatic connection

Pen mark all fasteners to show 1nalised

Page 1 / 2

https://stuga.dokit.app/wiki/Fichier:R0015086_Assemble_Pneumatics_on_to_electrical_cabinet_loctite_243.png


Step 2 - Assemble Sidewall 1
Assemble 4 off side walls as shown

Use M6 x 10 countersink bolts and domed M6 nuts to 1x

Step 3 - Assemble sidewall 2
Assemble 1 off sidewall as shown

Use M6 x 10 countersink bolts and domed M6 nuts to 1x

Step 4 - Assemble sidewall 3
Assemble 1 off sidewall 3 as shown

Use M6 x 10 countersink bolts and domed M6 nuts to 1x

Page 2 / 2

https://stuga.dokit.app/wiki/Fichier:R0015344_Bench_Assemble_Conveyor_Parts_Screenshot_2023-10-31_134329.png
https://stuga.dokit.app/wiki/Fichier:R0015344_Bench_Assemble_Conveyor_Parts_Screenshot_2023-10-31_134444.png
https://stuga.dokit.app/wiki/Fichier:R0015344_Bench_Assemble_Conveyor_Parts_Screenshot_2023-10-31_134503.png

	R0015344 Bench Assemble Conveyor Parts
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Assemble Sidewall 1
	Step 3 - Assemble sidewall 2
	Step 4 - Assemble sidewall 3


